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Topic---- THE GOALS OF FIVE YEAR PLANS

Ownership and Incentives

The policy of _ is based on the

idea that the cultivators will take more
interest they will have more incentive in
increasing output if they are the owners of the
land. This is because ownership of land
enables the tiller to make profit from the
increased output. Tenants do not have the
incentive to make improvements on land since
it is the landowner who would benefit more
from higher output. The importance of
ownership in providing incentives is well
illustrated by the carelessness with which
farmers in the former Soviet Union used to




pack fruits for sale. It was not uncommon to
see farmers packing rotten fruits along with
fresh fruits in the same box. Now, every
farmer knows that the rotten fruits will spoil
the fresh fruits if they are packed together.
This will be a loss to the farmer since the fruits
cannot be sold. So why did the Soviet farmers
do something which would so obviously result
in loss for them? The answer lies in the
incentives facing the farmers. Since farmers in
the former Soviet Union did not own any land,
they neither enjoyed the profits nor suffered
the losses. In the absence of ownership, there
was no incentive on the part of farmers to be
efficient, which also explains the poor
performance of the agricultural sector in the
Soviet Union despite availability of vast areas
of highly fertile land.
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